Quiz 6 MQ@

This is a two-stage quiz. During the first stage, use a one-sided 8.5 by 11 & calculator.
You have 15 min. In the second stage, you are now welcome to use your books, notes, and
students in the class to retake the same quiz. You have the remainder of the quiz time to
write one solution (with everyones name on it!!!) to be turned in for the group.

1. [4] Use the table below to find a linear approximation of the Heat Index (I) when the
temperature is close to 96°F with 70% relative humidity.
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2. Let f(z,y) =a*+y* —zy + 1.

(a) [1] Identify a critical point that is not
a local minimum or maximum.

(b) [3] Find Vf(z,y) - <§'\7/9 >O
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(c) [2] Let ¥ = ( . Find D3 (0, 1)
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